Bunny Hop Division

I can use a number line to solve division problems.

Example:
32+:4=8
+4 +4 +4 +4 +4 +4 +4 +4
| | | | | | | | |
| | | | | | | | |
0] 4 8 12 16 20 24 28 32
8+:4=
| |
| |
28 + 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

20 + 4 =

24 + 4 =

16 + 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

32+ 4=

40 + 4 =

36 - 4=
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Bunny Hop Division

I can use a number line to solve division problems.

60 + &4 =

48 + 4 =

12 + 4 =
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Bunny Hop Division Answers

28 +
20 =
24 +
16 +
32 =
40 =+
36 +
60 =
48 +
12 =+
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I can use a number line to solve division problems.

= 2

= 7

Il
o & (o)}

= 10

= 15

= 12
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Bunny Hop Division

I can use a number line to solve division problems.

Example:
32+:4=8
+4 +4 +4 +4 +4 +4 +4 +4
| | | | | | | | |
| | | | | | | | |
0] 4 8 12 16 20 24 28 32
16 + 4 =
| |
| |
20 = 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

48 + 4 =

32+ 4=

36 - 4=
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Bunny Hop Division

I can use a number line to solve division problems.

64 + 4 =

24 + 4 =

72+ 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

61+ 4 =

46 + 4 =

54 + 4 =
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Bunny Hop Division Answers

16 +
20 =
48 =
32 =
36 =
64 +
24+
72 =
61 =+
46 =

54 =+

~ &~ 0 B

I can use a number line to solve division problems.

= 4
= 5
= 12
I
= 9
= 16
= 6
= 18
= 15
= 11

= 13
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Bunny Hop Division

I can use a number line to solve division problems.

Example:
32+4=8
+4 +4 +4 +4 +4 +4 +4 +4
| | | | | | | | |
| | | | | | | | |
0] 4 8 12 16 20 24 28 32
24 + 4 =
|
|
48 + 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

36 -+ 4=

52 + 4 =

32+ 4=
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Bunny Hop Division

I can use a number line to solve division problems.

60 =+ 4 =

74 + 4 =

95 + 4 =
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Bunny Hop Division

I can use a number line to solve division problems.

77 + 4 =

71+ 4 =

90 + 4 =
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Bunny Hop Division Answers

24 =
48 +
36 =
52 =+
32+
60 =+
74+
95 =
77 +

71 +

~ &~ 0 B

90 =

I can use a number line to solve division problems.

= 6

= 12
= 9

= 13
= 8

= 15
= 18
= 23
= 19
= 17

= 22
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